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26.

27.

28.

29.

30.

SECTION - II

MATHEMATICS

Nikhil purchased three chocobars from a shop. He paid ¥ 50 to the shopkeeper
and got I 5 back from him. What is the cost of each chocobar?

(1) T 20 2) T 10
(3) X 12 4 %15

Jay purchased an old bike at ¥ 17000 and after 2 months he sold it at
< 15000. How much is the loss in this transaction?

(1) T 2000 (2) T 4000
(3) T 3200 4) T 5000

From the given set how many numbers are not completely divisible by 2?
162, 131, 890, 772, 245

(1) Three (2) Four

3) Two (4) One

Which number should be subtracted from quarter to twenty six thousand to
obtain 4 digit smallest even number?

(1) 25750 (2) 24750

(3) 27450 (4) 26750

If in the year 2010 Republic Day occured on Tuesday then in the same year
Teacher’s Day occured on which day?

(1) Sunday (2) Saturday
(3) Monday (4) Friday

SPACE FOR ROUGH WORK
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30.
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15000 SRTOWAVT BPROTZ. TMTT BN 83 FRTITTY, D&, BRTOWNY
TOQOTTDOWBIY?
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162, 131, 890, 772, 245 &5 ToFNLYoD &R, FoPNOR 2008 DFeR
PONBRCTVR DL ?

(1) TR (2) e

(3) @0 (4) 20w

“OTVZTO TOTELD RT” 85 F0sZ00008 CIE F0sF 0N, W BRRION DLFR,
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(3) 27450 (4) 26750
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31.

32.

33.

34.

3S.

Sanjeev deposited certain amount at the rate 5 p.c.p.a. for 3 years in a bank.
He received simple interest of ¥ 1500 after 3 years. How much amount did
he deposit in the bank?

(1) % 11500 2) % 10000
(3) T 4500 4) T 5000

Which of the following numbers do not occur at unit place in the prime
numbers from 10 to 100?

(1) 1,3, 7 2) 9,7, 3
(3) 5,2, 4 4 1,3,9

Each angle of a rectangle is
(1) Acute angle (2) Right angle

(3) Obtuse angle (4) Linear angle

Quarter to nine litre means how much millilitre?
(1) 8750 ml (2) 9750 ml
(3) 8250 ml (4) 8550 ml

Select the correct option to indicate the number ‘Seven lakhs seven thousand
seven hundred and seven’ in figures.

(1) 770707 2) 77777
(3) 707707 4) 707070

SPACE FOR ROUGH WORK
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3s.
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10 0oz 100 83 BoZNYY wIOH [oRVBOLNY 2FT (WRMY)WITY,
FFNTPNSYOD CIRT 2080300 VTIYOL?

(1) 1,3,7 (2) 9,7,3

(3) 52,4 4) 1,3,9
S00IT T33P0 BRI Relebrind

(1) o3RS (2) BEIBRCT
(3) BRI (4) TOToBRE

D0 masm Oee38 H0WT @x% ODeLIT 9
(1) 8750 &0.9e. (2) 9750 &w.9e.
(3) 8250 &0.S. (4) 8550 &0.Oe.

DW ©F DWW POTD DR DWW’ B3 B0, WodNTY, Fert WB30BT?
(1) 770707 (2) 71777
(3) 707707 (4) 707070
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36. Identify the pattern and select the correct number to fill the blank box.

5 7 10 22 | 33 | 46

(1) 5 2) 17
(3) 10 4) 15

37. Select the correct option which indicates the ascending order of fractions.

5 04 1 11 17 1 5 6 11 17
(1) 6 s 6 9 6 9 6 s 6 (2) 6 s 6 9 6 9 6 9 6
5 1 6 17 11 1 5 6 17 11
(3) 6 s 6 9 6 9 6 s 6 (4) 6 s 6 9 6 9 6 9 6
38. 225 x 72 = |:| select the correct option.
(1) 16200 (2) 2250
(3) 1650 (4) 22500

39. When two cubes are joined to form a cuboid then the number of edges are
more than number of surfaces by how much?

(1) More by 2 (2) More by 3
(3) More by 8 (4) More by 6
40. Select the correct option to replace the box. % + % = %
() 4 2) 2
3 3 4 5

SPACE FOR ROUGH WORK
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40.
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5 7 10 22 | 33 | 46

(1) 5 2) 17
3) 10 4) 15

g ficsevertevelatzlove @mmroéﬁé@{ $0% ZRITY, FOoRATE C3Ren T
POSIEFOD TINRYT?

5 4 1 11 17 1 5 6 11 17
D % 6 6 6 6 @ 6 6 6 6° 6
5 1 6 17 11 1 5 6 1 11
G 5 6 6 6° 6 @ 6 6 6 6° 6
225 x 72 = | :P3ung odeery Iosneod @0y SR@O.
(1) 16200 2) 2250
3) 1650 4) 22500

DTVBY PITENIR), WOBSROTD HRERATN BAERTINT 080D SFEOD
©0wNY Bos3 ok FRNY B3 No8 oW TR BTRT?

(1) 2 dom %23% (2) 3 dow %a&bw

(3) 8 dow ézf% (4) 6 dom é?jﬁ%

44 L) 283 imene woom dosons = 3 ok =n
7 3 56 389, R023,0308) TWOIREODROT 5030, [RRO.
(1) 4 (2) 2

3) 3 4 5
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41.

42.

43.

44.

45.

30% of 60 = ?
(H 9 (2) 90
(3) 30 4) 18

Last year 427523 students of std. 5™ and 238249 of std. 8™ appeared for
scholarship examination. Total how many students appeared for the examination.

(1) 662757 (2) 665772
(3) 662752 (4) 667527
Solve

(1) 3.003 (2) 3.005
(3) 3.113 (4) 3.004

Riya purchased two and quarter metre of white cloth and two and three quarter
metre of blue cloth to stitch a uniform. Total how much cloth did she purchase?

(1) 5 metre (2) 4.15 metre

(3) 4.95 metre (4) 5.10 metre

3000 is divided by which number to get the quotient as 85 and remainder as 25?
(1) 45 2) 25

(3) 55 4) 35

SPACE FOR ROUGH WORK
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41.

42.

43.

44.

45.

60 3 30% = QT2
1 9 (2) 90
(3) 30 4) 18

3T DIRE ORFE BOBODNG, DTI0D QODFOL 427523 QTRHFAL TN
QOLITCI QOVZOL 238249 DTLRFNTY TOER BVSTT. ToMRTT %), DR,
DTHFN BOER Bo9ETTIT?

(1) 662757 (2) 665772

(3) 662752 (4) 667527
WPBEITY, cdmery H0ad 03T WB0D.

2. 4 . 5 1.3 . 2\
(5+75+100 * 1900) — (2*10*+ o0 *1900) = |
1) 3.003 2) 3.005

3) 3.113 4) 3.004

@lovrioy) ﬁﬁaa’#\_jﬁd& méﬁo@diﬂcﬂ TR TLI LT WHRE TN 0B
m%gpo QAT Ve wea?ad w@ioﬁadoq FROBL). TOMOBT 2330 2083, @d%
QOCEIT” w@ioda;ﬁ% FROBLOY?

(1) 5 oee3o® (2) 4.15 Qoee3ot

(3) 4.95 oee3ot (4) 5.10 oee3o®

3000 &5 BoBRt 2FOOT YPNRATRN PoMwFITR DOWTO TN Jewey) T
SVLOI0R)TO?

(1) 45 (2) 25

3) 55 4) 35
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46. Suhas participated in a motorbike ride competition of 60 km. He covered the
distance with the speed 15 km/hr. If he started at 10:15 am. then at what time
will he reach the destination.

(1) 14:15 (2) 12:15

(3) 14:30 (4) 13:00
47. Solve

70602 + [ ] = 92328

(1) 22823 (2) 21726

(3) 21720 4) 27612

48. 12 dozen notebooks are packed in one bundle. If the thickness of each notebook
is 5 mm then what is the height of the bundle in cm?

(1) 72 em (2) 720 mm
(3) 720 deci metre (4) 720 m
49, Convert the improper fraction 42—7 into mixed fraction.
I 15 5 @ 3 &
G 15 3 @ 15 2

SPACE FOR ROUGH WORK
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33 x):cjrojoﬁgt 10.15% STORRTT INDBRATOD m@déﬁ WRI R, Moedn
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(1) 14.15 Ro&n (2) 12.15 no&dn

(3) 14.30 no&dn (4) 13.00 Ro&3n

70602 + [ ] = 92328 gl @PBusEd odna Bod wwddRmd?
(1) 22823 2) 21726

(3) 21720 4) 27612

12 BE® BNY 2,000 383, (MTY) VBB, WO 80D 5080¢ BTTT
SNY BT (NMEE) 280 @), Ao TORTE?

(1) 72 A2oe (2) 720 Q000¢

(3) 720 BaRC (4) 720 Qo¢

AL & empmorodnay Formroseing CIRmr0sRY, GRmROZOND.
4 2

(1) 15 3 2 3 {s

3) 15 3 @ 15 %
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50.

51.

52.

In the given figure how many vertices are there?

(1 8 2 9
3) 10 4 7
65 kg 500 gm of sweets were brought by an Institute for school students.

If 60 kg 200 gm of sweets were distributed among the students how much
sweets are left?

(1) 5 kg 200 gm (2) 5 kg 100 gm

(3) 5 kg 400 gm (4) 5 kg 300 gm

In a circle, radius is 2 cm and length of a chord is 3 cm. What is the length
of longest chord of a circle?

(1) 5 cm (2) 6 cm

3) 2 cm (4) 4 cm

SPACE FOR ROUGH WORK
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50.

S1.

52.

@Jb@i Qﬁ%@ﬁ @x% 3TBRCVOTONDT?

(1) 8 2) 9
(3) 10 4) 7

@ e <}

%%oéo@ojamq 30330, 60 8.M9, ;0 2007, ;0 28808030 NITHB =IRBESOODD.
ToMTT @x% 28808 VY309

2,000 FOFOIT/TY TSN [IBFIR FRBWIRTFN 658.M9, ;0 50070, (O

(1) 58.n9 0. 2007, (O (2) 58.n9 ;0. 1007, (O

3 3

(3) 58.my ;0. 4007, (O (4) 58.m9 ;0. 3007, (O

B) B)

TDFET Gy 230 [T, 20T W 30 9T, ToMeBT 8 TRFYT DQFR,
BRE, ‘3R SR, Foe 37

(1) 53Q0¢ (2) 63Q0¢
(3) 230e (4) 43000
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53.

54.

5S.

56.

57.

Which of the following mathematical expression has maximum value?
(1) 10 -3 x3 2) 10 x3+3
3) 10+ (3 +3) 4) 3 x3+10

A rectangular room of length 10m and breadth 8m is tiled. What is the cost
of tilling at the rate of I 30 per sqm?

(1) 2400 (2) I 2200
(3) < 2000 4) T 80

A decimal fraction 0.17 cannot be written in which of the following way.
17 10 7

(M 700 @) 100 * 100
10+ 7 7

Select the correct option

(1) Selling price — Cost price = Profit

(2) Cost price + Selling price = Loss

(3) Selling price — Loss = Cost price

(4) Cost price — Profit = Selling price

3, 0,5 7,9, 1 use each digit only once to obtain largest 6 digit odd number.

(1) 975310 2) 105793
(3) 975301 4) 973501

SPACE FOR ROUGH WORK
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53.

54.

5S.

56.

57.

FSNTQNTYOD CINT TR W¥Se30 @egﬁfaé é?saw Q32

(1) 10 — 3 x 3 (2) 10 x 3 + 3

(3) 10 + (3 + 3) 4) 3 x3+ 10

2,083 @033@%@ PDREBRCTHBOD emcgD 1000, TN AN® 8¢ V3.

& [NFEREBODY, FOA éfa@ﬁo@deméﬂ WO .63V 30 TRTO B
BRROHT0Z R, 3R FRTEITNZT?

(1) 2400 TRITDOWNE (2) 2200TRTDOONE

(3) 2000 TN (4) 80 TRTWNL

0.17 B33 T3T203 WTPFFOTHI, CINT 0eS0RN WL WIFHOL?

17 10 7
(D o0 ) 100 T 100

10+7 7
3) Foo (4 10+ 150

3INT TOIRFODNLYOD 03per, DGR CINTTO?

(1) BrouWS - dromEedd = ool (2) 3RomuS + [OTUS = T

(3) [ROTUS - T = FeoEWS  (4) FeordS - wvyd = BROTUS.

3,0,5,7,9,1 aRneQ, BBo3Rom @00 .0TERY YVBOIRENY ST LooD
DYBR, BRT, DRE F0sF00D, FCIRORD.

(1) 975310 (2) 105793

(3) 975301 (4) 973501
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58. 6 hrs 40 min + 2 hrs 35 min = ?
(1) 8 hrs 40 min (2) 8 hrs 15 min
(3) 5 hrs 5 min (4) 9 hrs 15 min

59. What is the percentage of shaded portion in the given figure?

(1) 50% 2) 75%
3) 25% 4) 85%
60. Chandu typed at the speed of N words per hour for 5 hours and Ali typed at

the speed of M words per hour for 6 hours. Total how many words did both
of them type?

(1) 5N x 6M 2) 6M - 5N
(3) 5M x 6N 4) 5N + 6M

61. In a milk collection centre there are 300 bags of 1 litre each and 600 bags of
500 ml each. If 560 litres of milk is distributed then how much milk is left?
(1) 40 litre (2) 50 litre
(3) 500 litre (4) 30 litre

SPACE FOR ROUGH WORK
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58. 6 9RO 40 QEWRMD + 2 TR 35 WA = AR?
(1) 8 293 40 RN (2) 8 o 15 RN
(3) 5 TR 5 VRN (4) 9 3R 15 RN

59. 308 53800Y0N Teai0dd NG EFERNT 2T?

(1) 50% 2) 75%
(3) 25% 4) 85%
60. BOTOI 0T IR ‘? @gdr{%ﬁo 33 BTREITON 5 TR0 Tonw AT 2WwOTH

SRR ‘R LTONE B3 BIPEOTN 6 TR L30FSEDT [RRTTD. AWTR TRR
D), WTONY L308SeDT BRRT?

(1) 58 x 6 2) 6% - 53
(3) 5% x 63, 4) 53+ 6

61. 2000 TOF BFeood 1968303 300 Weonshd Tone 500 0O Oee3sT 600
WeONYTEY. & OF 560 Oee3T” HOT DITE BRESOWDB). TMWTT wid), &,
DeLTT TOLD LVPOBO?

(1) 40 Se3o® (2) 50 See3o®
(3) 500 OecwT* (4) 30 Oee3o®
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62.

63.

64.

6S.

Javed purchased 10 boxes of Mangoes at the rate of I 3000 each. After some
days Mangoes got spoiled so he sold them at I 1200 per box. What is the
percentage of loss he got?

(1) 40% 2) 60%
3) 50% 4) 70%

Arrange the following in descending order. Find the difference between the
second last and fourth last number. Which digit will occur at the tens place
in this difference?

40273, 41237, 41260, 42106, 41238

() 4 2) 3

(3) 2 @ 9

2 gross papers out of 2 rim of papers is used for printing, how many dozen
papers are left?

(1) 672 (2) 56

3) 66 (4) 288

Select the correct statement.

(1) Smallest divisor of 15 is 3.

(2) Only three divisors of 18 are even numbers.
(3) Any prime number has more than 2 divisors.

(4) Number of divisors is unlimited.
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62.

63.

64.

65.

20RO 3000 TRTOWA woWTOZ T WRAT  TIANIR), IR0T. T
OSNYN0PT LWOYoD Fwey TeMTO FIH00T 1200 TRTICWNR 2.083308 9,
BLRATR), SROTD TOMBY 83 BRTORY, WRIR B8t R, TIACINCWE?

(1) 40% 2) 60%

(3) 50% 4)  70%

IINT Do nesy, w9TTIOTY, wB0WD. FA[OWOT WIE ATVESCD Tone
TOFoD Bosd oY BTN TN TIFTWITY, BRW 08 WINYT?
40273, 41237, 41260, 42106, 41238

(1) 4 2) 3

(3) 2 4) 9

DT> ORF BNBNIFS 0B RReT° FNTRT, BOTETN GVBOIRENATT R,
BRI TNT LVPOINRNR)?

(1) 672 (2) 56

(3) 66 (4) 288

FINTRRIYOL 3R DGR ASRENTINT?

(1) 158 28R 138 QyP%T [N AT

(2) 188 2@ ppusndd Feme BT QPEINTY =00y, 9.

(3) oInRTe Bwewon @dd-@;oé ézﬁ;ﬁ PWINSTOZS.

(4) yPWENY Fosd, BTN OTINTOR) DY,
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66. Arrange the multiples of 41 in ascending order. Which is the fourth even
number in this set?

(1) 328 2) 164
(3) 410 4) 246

67. What is the perimetre of the given figure, when length of each square is

1.5 cm?
(1) 15 cm (2) 9 cm
3) 39 cm (4) 36 cm

68. How many one digit and two digit square numbers contain 1, 6 and 9 at any

place?
(1) 6 2) 9
3) 7 4) 8

69. What is the simple interest on I 3000 at the rate of 10 p.c.p.a for 3 years?
(1) ¥ 300 (2) % 600

(3) T 800 4) T 900

SPACE FOR ROUGH WORK
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66.

67.

68.

69.

41 0T QYPRATID AWOFoLNIR), DOF FROTY, BTN WOFD WITY,
WTE F0T0ss, CRFT?

(1) 328 (2) 164
(3) 410 (4) 246

TRW, 838009 T,E3RoTO WRTIT wr 1.5F0e. 9WT ¥ 8730
BOWE 2

(1) 15 Aoe (2) 9 e

(3) 39 Aoe (4) 36 Aoe

1, 6 TR 9 85 wobng SRPTE AWFTYTOT 20008 TR DTBOSNY 2.3,
SRFRoa3NIR?

(1) 6 2) 9

3) 7 4) 8

B.8.3.3¢ 10 0308 3000 TRTOWOD IO 3 SIRFT TG, HF?
(1) 300 TRTPCONLD (2) 600 TRTPCONLD

(3) 800 TRTDOWN (4) 900 TRTOOWN
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70.

71.

72.

Which of the following indicates different fraction formed by shaded portion?

(1) 2

3) il (4)

If an article of ¥ 1000 is sold at 30% profit then how many rupees profit is

gained in the transaction?
(1) ¥ 1030 (2) % 150
3) ¥ 300 4) < 1300

Lokesh and Roshan are working in a same company. Roshan received salary
of rupees Fifteen and half thousand for 1 month and Lokesh received salary
of rupees quarter to Eighteen thousand for same month. Salary of Lokesh is
more by how much than Roshan’s salary?

(1) Quarter and two thousand rupees.

(2) Two thousand and fifty rupees.

(3) Twenty two hundred rupees.

(4) Twenty three and half hundred rupees.
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0801-Kannada Set-A 28 of 32 Contd...



.....

70. BENIPNTYED ORT $FSCPYD TeszoosT yeney ed WTPTOF 0TDIY, gl
303037 a8

(1)

3) il (4)

71. 1000 BRTOOVD dﬁow& 30% % SRTOBROTBY RNOTIN @wo BRTOOOD

2)

LI TO?
(1) 1030 TRIDOWNE (2) 150 TRTDOWN
(3) 300 TRTEOND (4) 1300 TRTOND

2. Spde3 mone CRES womd BoBINE, FUB BREBITI. SRS Lo
BonvR BOFTFT AT TReTOW TR SRESIR BOZED BT R
dxa—aosamfo CRTSR). ToET @ onesd). Snedan Sre3zdho DR,
CRTOONL Gl BRTZR)?

(1) TR T a8 CrmRoind

(2) NTE LT 0TI TRTIOWND

(3) VTZTRE SRTO TRTWOWNL

(4) TR HNTT PT[RTO TRTCWN
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73. Height of two pillars is 117 cm and 105 cm respectively. What is the height
of the pillar formed by joining these two pillars?

(1) 2.22 mm (2) 222 m
(3) 222 em 4) 222 m

Note for Question 74 and 75.

Answer the following questions on the basis of pictographical information given
below. Pictograph indicates the number of students learning to play musical
instruments.

Instrument Number of students

w000 L LY
Harmonium | () () ()

Flute ) L)

o 00000

Scale : 1 picture = 10 students

74. Total how many students are learning to play musical instrument?
(1) 150 (2) 160
(3) 140 4) 130

75. Which instrument is learnt by least number of students?
(1) Flute (2) Guitar
(3) Tabla (4) Harmonium
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73.

74.

75.

QTR FOWNE HFT WRFRTON 11730¢ Tone 105300¢ BT TR TOWNTI),

2,000 WRERY %WOTE FOWDRI, BOSROITT & FOWT W), DT DR
(1) 2.22 &00¢ (2) 222 &oe

(3) 2.22 e (4) 2.22 Qe

3.8 74 TN 755N Teu:-

FENT 23ZTRT WHES0D BHITLOT @%ﬁ@ﬁ QV3T WTOWD.
5, O TRFNY Bogd, ERBWLRNT.

0, 7903003 QT {ene

)

- 000000
mtarnts |(0) () (1)

|0 0

w 00000

T@Reo: - 1 288, = 10 DTHFATO

2830, DT, DTW,HFNE BT, FOBNITT?
(1) 150 (2) 160
(3) 140 4) 130

030983 mcﬁa@mq BOCI0T DTHF oot FRE ak?
(1) B (2) Mo
(3) Swee (4) TORPFTEAODRT
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